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Write the following in increasing orders.
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. Chapter 1

Evaluate when y=3 and x=5

P ; ' | L1 5y +
11.5y+x*=__HO 12.2y+9x-7=___ 4 13. X% 5

. ‘ 4
5(@+5" | 2. (3 +a(5)-T M .
I5+25 b+ 45— 5(3)r5 _zo
o A .
Evaluate when a= -2 and b=4 _
14.(b-af=__ 2 b 15.b? - a’= 12 16. (a + b)%= ’—7[
(a-c20)? o (2)? (2 +D)*
(-0'5 iz o ' ZZ

Solve **Hint- Order of Operations**

17.5+8e2—-4= ﬂ’l 18.10;3+(2+5): l Z 19.[(704)+3]+15=_L_"_(Q_»_
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Is the following a function? Yes or no? CVCl’\/ ! nPU‘+ has vcx'ac;H\! | o U'jrf’u't’—. '
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Evaluate each function when f(x)= 6x + 7 and g(x) = x> - 4nd b=-3

29.1(-3)=__—11 30.g(a)+9=__9
(2)+T Sii
19+ "l O+q
s 31.12) +g2)=___ 14 32.g0b)=_5_
£ LT gle= 2T g () 2 2o
+(z)=19 qlz)=0 ( -
: 3)=9-Y
£(2)+9(2)=12+0 gez)
.Name the'domainand range of the following functions.
33 (2,3) (5,4)(+,4) 34 1] 35,
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v B - .

DZ i(;zl _‘7)1“_‘ '6-.72 ‘ #

Q;i—z75.-—l,ug Dt §-2,-1,2, H¢ 'Digvz,o,z’g
- | L3225 K51, 2¢

. 'Fep—ea{-s once |

~ Simplify the following. |
36.2x+3)__ X+ 37.3(2x+x-2)__9x—-(, 38. 23 —x+2+5¢_TX =X+2

Lx+3x-L



Chapter 2

Solve

39, x— 15 = -4 X=]]
+15 +15

40.11=x-4_ X =|5
+4 44

43.10x=110 ¥=1}|

42.-4x=24_ X==(,

uf =2 16 16
o M=
 45.3x+5=11_ Y =2 46.22x-12x=60- X = b
. =65 -5
10 =00
Ox=06 o 10

48.11x—21=17 -8« 2‘52. 49.3(X+6)=5(X—4)_Xi'ﬂ__
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CX+185-H2+Y v = |Zx+ B

10x =28 =1Zx+3Y
10 x =10 %

51.3(2x+5)—43 +4x =11x + 34 +x

7% = 2% +3Y
- 24 =BY

=gl =ZX
=g l=Y

Ix+y_185= bx+)12-2%x-2
Hy-1| = 4y —11|

X _—
44.§6=§a5 V=30

47.x—2(3x.—2)=-67 K?’vz-‘
X-bxtH4 ==

—5y +d=—0
ST

T By=—10"
=55

50. 2(x +4) = 2(x — 4) + 4x g:L_f

Z2x+ 9 = 2x-8+Hx

2x+% = b¥-%
~LX =2k

52.4(x+1)-15=6(x+2)-2x-23 [ nFin i +€
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___Evaluate when m=-8, n=4, and p=-12

53. |3m—n|=__ 28 54, |-2p + m| - 3n= Hf 55.-3|6n-2p|=_ 4

\3&.@) ” l_'ll \-2¢-12) +H-9)] - 3(%) »_31 el =2l-12)]
|-28)\ te-12 -3(48)

56. Find the value so that the two figures have the same perimeter.
[N SO ————

X 14
1 =
: X+3 - >4 3| x-4
o 34 '° 1
Ax +xt3) = 38+ 2(x-H)
L ax+aAxtle = 28+2x-8
Hx+l=2x+20
-2Z¥ =2%
- “J e Q'.,
57. State whether the percent of change is an increaséor a decrease. Then find the percent of change. Round
- to.the nearest whole percent. Original: 54 New: 45
nevarﬂi d/o = e /)’“bouf' a |
X = — =1 =
| or\slna\ 100 5 100 1 7% Jlecrease,
~qo0=5HYy
54 54
.o = X

58. Kirk wants to purchase a wide-screen TV. He sees an advertisement for a TV that was originally priced
$3200 and is 20% off. Find the discounted price.

O.2 (3200) = (x40 0.8 (az.oo)_:

It

3200-64H0



Chapter 3

Write the ordered pairs for each coordinate.

B AT o (4, 5)
| ; ’\U, n " | o1 (| N 3)

e an -
ol charge

. "han’g
change eb
Determine if the following are linear or not. Explain. -, : R .
n® R 7, Palnt Needod for Chalrs

| Time {min} Temperature {°F)

A
W

: {':éns fiﬁf :
hainty |

o 15 85 ' | | ‘v
Not linear, +he pote of change1s™s 15 18 P
not constam. Linear , +he rate of change

| g i GG RD s constant. [+ is 12 cans of

8 ® P | 8
T constant
. “lf" 1 rate of
| B B 7 change.
Find the slope of th% following.
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Find the slope continued.

77. Flnd the slope of a line that passes through (2, -2) and (4, -6).

X K, X “?
m _/_‘/_ T N @
X, -2 - z -
78. Find the slope of a line that passes through (5, 8) and (-3, 7).

.—’3‘5: :—_8_ —

79. Find the slope of a line that passes through (6, -8) and (6, 4).

)

: 80. Find the slope of a line that passes through (9, -3) and (-4, -3).

=B5+B O
W= J0-gq = =ig . = @

Graph the following using intercepts.

@

- 81l.y=4+2x 82.x+y=4
¥—int =0 y-int x=0 X-1NnY Nt
D=H+2% \f:‘—}+1607 =0 x =0

_’_f‘_;i_\ N=4 X+0=Y4 o+\/ q
e e

’2-:)( C"Z;O>n /§0)47 Cl_,'D) H. CO'4>
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Chapter 4

Write an equation in slope-intercept form for the following.

83. A line with a slope of 2 and a y-intercept of (0, -1)

84. Aline that is parallel to the line Wand passes through (-2, 3)

m=5 2,3) 3= 5(2)+b
= e 2 = =Bl
\/ 5= 5 (x > . -4—/0 +10
v 2 I12=b
(N=5%+13 ) : dc S<+13)
85 A line that is perpendicular to the line y—%(+17 an passest rough (4, -6)
v = = (H,-6) b= F-H+b
B > -28
(\/+(D>' (X""O/é’ 'G:T.{—b
5y+50:-7><4—23 6 28 _+3p
-30 -~ 3o T ~=—=b
BYE -"x— 7— -8
5 Y 5 &= “g‘:b

86. A line that | lS perpendlcular to the Im%d passes through (-2, 1)
’ | = "‘3 (-2) +b
1=

" = =2 1) -
A3(‘{ D= "(:?uz)cb _>~,_' RN L%'Fb
- 3\/ 3_,._><_. N= 3xt3z -2 =1
+3 v :

_5_g ==X+ 2=b

Write an equgtlo% in slope intercept form for the line that passes through the given point and has the glven

slope.

87.(4,-2) m=1/2 88. (-5, -6) m=-3

A \/:mx-.J—b \/"-YV\X‘)”O
~2=3(1) +b ~lo=-3(-5) gb |

2 = ) Tl=15¢ =-3x-U

~2 =2+ = X

= 5 -5 -5 b

b -2l=b

Write an equatlon in slope-intercept form for the line that passes through the given pomts
. 89. (-2, -8) and (-1, 0) 90. (-2, 5) and (2, 4)

01 49) ol

PO =B oy wi=H=5 _ =l 6/ 55 Cx+2>
I 2+2 - Y4

o ‘ "'I‘\/v 20 = - -2

y+%= g(x+2) N = mx+ b +20 +20

Y+E=8xtl Hy= —% +1

-3 -% Hy=-x+ig
TR N

= Sx+8} ‘:“‘LY‘*""“;'_‘*
\/ x+8 N="H



Graph the following.

91l.y=x+2

) !
m=-3

&
+*

L
>

-y -

Write an equation in slope-intercept form for the following graphs.

95. 96.

A




Chapter 5
Solve and graph each inequality.

97. x+8<1

-3 -8

X &-1
198, 3x<12 ’P\'P
=3 -3

X >-
99.-5<x—-3<6

~5ex-2 X-3< 0
+> +3 +3 +3

-2e&x X9
-24x 29
x+10<8o0r3x—7>5
-10-16 +7+7
32x212
2 3
Xe-2 or X 24

*100.

Xz-2

HIN'_I": less than AND greater than OR

' 101. |10 +x| <13

lo+xe13 -(10¥x) £13
~10 -l T/ T
X £ 3 ID+x =—13
~lo —10
_ X2-23
102. |4x+ 2} >6
Ux+z27b ~(Hx+2)>0
o= 2=-2 T - -
Hx > Hx+2 ¢-6
- 9 -2 -2
R Yxe-8 Xi-2
X7 | i
103. [m+ 19| <1 .
M9 2| =M+
-1q9 -9 -1 =
; m+19 >~
| " >-20

~2046M <] g

(00

q1 &+—t—@— L—
-9 -g -1 -L -5
yi ! J /3—_—_—’. : i o
as S - -5 _‘ﬁ -3 -2 _
1 -4 -2 o0 2 4 L g
ST} — L gt
-4 -2 0o 2 H b
ol - >
-25 -20-I15-lo-5. 06 5 1o *
]DZ_M ] ! M
-2 -1 o 2 3 |
&——G— L
-272 -20 -9 -1% -17




Graph each inequality.

104.y -2x>1 das\nco\
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106. y<x-3
(o, 5)

mz -—'rg OL-D

LS

105. 4x +y > 5 60\‘6’
-y -Hx

72—‘4><+5

(0,5)
) -4 ¥ 0625 palse
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&

\
107. 10x + 2y <12 50!
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